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[1] Find the tension in the cable and the force of the support. 
Note: The board is 500 N &  the person is 1,500 N 

cable 

2 m 2 m 

[2] Find the force provided by each support. 
Note: The board is 600 N, person #1 is 1,500 N &  person #2 is 2,000 N 

2 m 1.5 m 1.5 m 

#1 #2 

[3] Find the force provided by each support. 
Note: The board is 600 N, person #1 is 1,500 N &  person #2 is 1,000 N 

2 m 1.5 m 1.5 m 

#2 #1 
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[4] Find the weight of the board & the weight of the person. 
Note: The support pushes up with 20 N &  the tension is rope is 40 N. 

rope 

30 N 

2 m 6 m 

1 m 

2 m 

[5] Find the tension in the rope & the force the hinge provides in both the horizontal 
and vertical directions.  Note: The weight of the board is 60 N &  the weight of the 
person is 40 N. 

rope 

6 m 2 m 

Hinge 

[6] Find the tension in the rope, the horizontal “pull” force & the force the support.  
Note: The weight of the board is 400 N &  the weight of the person is 100 N. 

53.13° 

4 m 4 m 2 m 

Fpull 


